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FEHERNK EHABBEHHAIR B 12 0.092 |( 0.0010 ) ~ 0.30
FHREX BUEARERAES B 12 0.14 0074 ~ 0.22
IER REEREFD B 12 0.10 0.047 ~ 0.16
PN BLEYIRIBEBEFARAER B 12 0.16 0.080 ~ 0.25
A AR B/\EY /B B 12 0.10 0.050 ~ 0.19
ETETX ¥ XERB B 12 0.13 0052 ~ 0.20
FRR FRRERZEHD RSt 12 0.16 0.096 ~ 0.28
TGRS itk A AERTS RS 12 041 [ < 0.070 ) ~ 0.17
FiRH #ENPRB B 12 0.10 0032 ~ 0.24
FBHER BiEE B 12 0.10 0.050 ~ 0.21
HRE M PR 3] B 12 0.12 0074 ~ 0.16
aNE B )1 EREF 4 T BT HrmAlER hizel 6 0.15 [( 010 )~ 0.22
w|HE BT B#AEB B 12 0.097 |( 0031 )~ 0.21
ITET B pF ETrEBEFIRG B 12 0.15 0043 ~ 0.38
eSS BRF EZEBHEHIRB B 12 0.16 0069 ~ 0.46
|IEHE EHh SRR D RS 12 0055 [( < 0012 ) ~ 0.13
EHR AT WAEZ N Rt 12 0.14 0.064 ~ 0.18
IR BEATHE KK B HBRIER B 12 0.11 0.057 ~ 0.20
ERfE IR SET X R-257 I A 12 0.10 0052 ~ 0.23
| B8R =5mh BH#=8RF Ry, 12 0.11 0051 ~ 0.23
BHE BT EMRE E3ETE] B3 12 0.14 0.080 ~ 0.35
BHE 2 EHitR L FKERLEEMB B3 12 0.14 0.056 ~ 0.35
BHE L EX o] A 12 028 | < 0.036 ) ~ 0.92
FE W T IS TR ERKBE R B3 12 0.12 0078 ~ 0.29
FRTH TRHEHRD Fs 12 0.23 0.046 ~ 0.51
A &+t REEBEHFIRAESD B 12 0.12 0.060 ~ 0.21
i EiE23 5 $hRE Bt 12 0.15 0.066 ~ 0.31
fitl BH¥EZR B3 12 0.10 0041 ~ 0.24
4 49 PR Fs 12 0.13 0.054 ~ 0.22
g i WA B EFIFD A3 12 0.11 ¢ 0018 ) ~ 0.25
g i AFER B3 12 0.13 0.065 ~ 0.22
3 [t BEHERE LV 2B 03 12 0.17 0.053 ~ 047
§ B ] 5% o {5 B 32 S8 38 S5 4 &) Ry 12 0.13 0059 ~ 0.23
EER HE#R HEEBEINER A 12 0.22 0073 ~ 0.85
EER f B B3 12 0.081 0029 ~ 0.15
EER kil A A3 12 0.092 |( 0031 )~ 0.20
ZRE ERH B ER B oy 12 0.11 ¢ 0.047 ) ~ 0.32
SR Bl ELES -0 B3 12 0.11 0.036 ~ 0.28
SmE KFih KFHEFREE B3 12 0.11 0030 ~ 0.25
BRE L FEAEHE A 12 0.11 0054 ~ 0.25
| FE LI =1 Gl ABAERD Ry 12 0.22 0.066  ~ 0.60
[T T BET RERTAERD Ry 11 0.18 |( 0.034 )~ 0.41
=T LEEHEX tALBIER B3 12 0.12 |( 0.023 )~ 0.31
E =R ZREHED B3 11 0.19 0080 ~ 0.41
BER memh B EBH Py 12 0.14 0.065 ~ 0.36
aBHE S FIRILATD A3 6 0.12 0071 ~ 0.17
2R EAMATFIE X P95 R Ry, 12 0.30 0.069 ~ 1.4
2R AT/ \BBREX |78 AR RITE A B3 12 0.24 0.067 ~ 0.71
1B R B HERK B B3 12 0.24 0093 ~ 0.50
R EE T EaHB B3 12 0.21 0050 ~ 0.52
EER Bifitt 1R B3 12 0.22 0076 ~ 0.44
RisR okl IS TH TS B3 6 0.19 014 ~ 0.24
RIFE R BEAER Ry 12 0.17_|¢ 0070 ) ~ 0.52
BEAR REAT TKEET B B3 12[C 0.0075)[C < 0015 )~ ( < 0.015
REAR REATT HKAEF B3 12]C 0.0075)[C < 0015 )~ ( < 0.015
AR BIRFH RIFFERE Ry 12 0.20 |( 0.064 ) ~ 0.55
ERBE [EE)INT NNB oy 6 0.094 0054 ~ 0.14
ERER [WWRH R oy 6 0.10 0051 ~ 0.14
SRR FHH WEBD B3 12 0.20 |( 0.054 )~ 0.49
SRR PR HIER B3 12 045 [ < 0.034 ) ~ 0.68
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